Staff Selection Commission
(Government Of India)

QID : 201 - In the following question, select the related word pair from the given alternatives.

Ammeter : Current::?:?

oo uy & fow e fowedt & & i wsg g &1 gful

Options:
1) Scale : Speed
W : T

2) Seismograph : Density
DY
3) Barometer : Mass
R : goaAH
4) Anemometer : Wind
IRATH : IR
Correct Answer: Anemometer : Wind
1 dg
Candidate Answer: Anemometer : Wind
IRIATE : IR
QID : 202 - In the following question, select the related letters from the given alternatives.
JPC:GMZ::PUV:?
fafafad oy & U U fawedt & & Jafa sierl &1 g

JPC:GMZ::PUV:?
Options:

1) MRS

2) MSR

3) MQR

4) RMS
Correct Answer: MRS
Candidate Answer: MRS

QID : 203 - In the following question, select the related number from the given alternatives.
5:130::6:?

fafoRad oy ¥ iU U fawed & 9 Wefia = & gl

5:130::6:?

Options:

1) 210

2) 212

3) 222

4) 226
Correct Answer: 222
Candidate Answer: 226

QID : 204 - In the following question, select the odd word pair from the given alternatives.

Frofofea vy # fiw e fowed! & @ fawd weg @ &1 gL


http://thepracticetest.in/cs_cglet1_17/logout.php?appid=1368062d74107fc05177712c90c3885c
http://164.100.129.99/challengesystem/sendrollno.jsp?rollno=7204715936&scode=108&key=7316ce0e1d4ff37c6e88851f8a1e7279

Options:

1) Quick : Fast
EGRRL]

2) Lazy : Slow
SHTert : e

3) Credible : Deceptive
faygiia : yme

4) Exhaust : Tired

Yobl 3T : 3913

Correct Answer: Credible : Deceptive
Qi : yms

Candidate Answer: Credible : Deceptive

fayeg : yme

QID : 205 - In the following question, select the odd letters from the given alternatives.

frofafed vy & feu e fawed & 9 fawm srert &1 g
Options:
1)CD

2) PR
3)sT

4) WX
Correct Answer: PR
Candidate Answer: PR

QID : 206 - In the following question, select the odd number from the given alternatives.

fafoRad oy & iU U fawed & 9 faww W &1 giu)
Options:

1) 234

2) 345

3) 243

4) 432
Correct Answer: 345
Candidate Answer: [ NOT ANSWERED ]

QID : 207 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Globe
2. Group
3. Glitch
4. Gap

5. Glade

fafafed Weal &1 AP T 3 ard HH & IR |
1. Globe
2. Group
3. Glitch

4. Gap
5. Glade

Options:
1) 42351
2) 45321
3) 43125

4) 45312
Correct Answer: 45312
Candidate Answer: 45312

QID : 208 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
CEG, IKM, 0QS, ?

T 3Ry foan mar g, o ¥ ue U gw B 1 3 T fawedt § 9 9 udt fawen g, S o H B |

CEG, IKM, 0QS, ?



Options:
1) UWY

2) UYX
3) UVY

4) TWY
Correct Answer: UWY
Candidate Answer: UWY

QID : 209 - In the following question, select the missing nhumber from the given series.
7,19,42,87,?
frafafed uy & fow T fAwed # ¥ g 8% 1d Sifm|

7,19,42,87,?
Options:
1) 136

2) 176
3) 172

4) 216
Correct Answer: 176
Candidate Answer: 176

QID : 210 - Present age of A is 2 times the present age of B. After 8 years the B's age will be 4 times of C's present age. If C celebrated his fifth birthday 9 years
ago, then what is the present age (in years) of A?

A B I 3T B BT IAAM 31T BT SR 81 8 IY &1 B BT 31, C B IAAM AT BT 4 T 81 S| I ¢ (o1 rerat S=Afe 9 I uget A T, o A Bt aaAe
g (auf ®) T 82

Options:

1) 88

2) 9

3)92

4) 84

Correct Answer: 96

Candidate Answer: [ NOT ANSWERED ]

QID : 211 - Pearl Towers is taller than Sky Towers but shorter than Unity Towers. Unity Towers and Cyber Towers are of same height. Pearl Towers is shorter than
Indus Towers. Amongst the buildings, who is the second shortest?

Te IR, Thrs TR T St  Afe giHet H9R | 81 81 g HHR au1 IgeRk H9R &1 Samsal 99 €1 Ud HHR, $859 HAR I B 81 39 3AR 3 ¥ gus) I
B TR B9 It 82

Options:

1) Pearl Tower

2) Sky Tower
s MR

3) Indus Tower
39 HHR

4) Unity Tower

T TR

Correct Answer: Pearl Tower

Candidate Answer: Pearl Tower

ol HHR

QID : 212 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
Legislator

fu mu gy #, fFufiiad fawe § § 98 Wsg 9T o AT U 1eg I $1eRT BT UENT IR 61 ST o GabdT g

Legislator

Options:

1) Raise

2) Gist

3) Legal

4) Greater
Correct Answer: Greater
Candidate Answer: Greater



QID : 213 - In a certain code language, "MATCH" is written as "NYWYM" and "BOARD" is written as "CMDNI". How is "PRINT" written in that code language?

% fAfRiy S U H, "MATCH" &1 "NYWYM" f3RaT STl 8 94T "BOARD" &1 "CMDNI" foraT STl 3| 39 1 MW § "PRINT" &) fbg YR forar Simaem?
Options:
1) YILPQ

2) ZIMOR
3) ROMIZ

4) QPLIY
Correct Answer: QPLIY
Candidate Answer: QPLIY

QID : 214 - If "+" denotes "divided by", "x" denotes "added to", "+" denotes "subtracted from" and "-" denotes "multiplied by", then
54 +162-18x12+6="7?
Mg " 7 ek U B, e T aref e R, vt T ok e & gt " o anef o g

54 +162-18x12+6=7?

Options:

1)4

2) 16

3)12

4) 10

Correct Answer: 12

Candidate Answer: [ NOT ANSWERED ]

QID:215-If(3)2@1*7=98and (4)2@ 2 * 16 = 178, then
(5)2@3*9="2
I (3)2@1*7 =987 (4)2@2* 16 = 178 7, <

(5)2@3*9=2
Options:

1) 218

2) 262

3) 253

4) 259

Correct Answer: 262
Candidate Answer: [ NOT ANSWERED ]

QID : 216 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

TrafafaT vy # By o Reear & @ uy e
(?) & TUT W A T TEAT H JEAT

3 2 7
[4]22]5] [1]44]6] [8]7]2]
2 i 5
Options:
1) 54
2) 60
3)62
4) 66

Correct Answer: 66
Candidate Answer: 66



QID: 217 -
How many triangles are there in the given figure?

& w6 smp 3 Rt Pager ¥

/N
PR
/f \
/N
/ SN
/ b
N
Y
N !
\ >/
N
S|/
hV
Options:
1) 14
2) 15
3) 16
4) 19

Correct Answer: 15
Candidate Answer: 16

QID : 218 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

1. All cups are plate.
II. No plate is a shop.

Conclusions:

I. No cup is a shop.
II. No shop is a plate.

H T MU UAS Uy B $8 FUF IR S a1 I HU! R NYURG $© ey o T8 F, el 3wy J1d it § e §) gadt 71w fsey g Sik iR
Fuffed % 5 U U w19 ¥ e 3T 70 Hot & SMUR W gfaaeimd 8

DY

L & 5 wie g
11. B @e g™ T 81

e

1. S HU gHH el ¢

II. ®13 gbH We el |

Options:

1) Only conclusion (I) follows.

Faa e (1) T B

2) Only conclusion (II) follows.

Paa ey (1) wEl 8|

3) Both conclusion follow.

1 €t ey W@ B

4) Neither conclusion (I) nor conclusion (II) follows.
T d e (1) 71 € e (11) T R
Correct Answer: Both conclusion follow.
T & ey T 21

Candidate Answer: Both conclusion follow.

T € frsd @t B



QID:219-
Two positions of a cube are shown below. What will
come opposite to face containing ‘B?

H= T g &Y & e o TR §1 3R B
& fula sae T Gl @1 Hew A

Options:

1)Q

2)T

3)S

4)QorT

QUT

Correct Answer: Q

Candidate Answer: [ NOT ANSWERED ]

QID : 220 -
In the given figure, how many people speak Italian and
French language?

& % gl & frae ST saTedr AT SuT wrE
HTOT Aoy &7

ltalian / /4 \ German
language/ — ™ 7 1[‘_ ,T‘~~.\8 [4— language/
N

SaTerd! HTAT \‘-\, [ S\ﬁﬂ v el

"M._I;_ q__'_j,
14 /
e ~
T/
French
language/
TRIEMET STET
Options:
1)21
2) 16
3)27
4) 20

Correct Answer: 21
Candidate Answer: 21



QID: 221 -
Which answer figure will complete the pattern in the
guestion figure?

®id d@1 30 HPlA UH HPA & UAET H QU
HLIN?

7

~J

Options:

VAl

N
-

VA

w
=

2

/) \Le

Correct Answer:

/e

Candidate Answer:

/e

QID: 222-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& ¢ R A F @ 3W s g & g
orw & uy amgla BfRka B

g




Options:

1)

2)

3)

4)

/|

/

Correct Answer:

Candidate Answer:

QID: 223 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ F vy ol # @ gAR Fee @
ATZHRT Teel dAT Wil & a1 g fhH a7 Hpla
e s game

EA| | B3




Options:
1)

LR

2)

OO0
OO0

3)

OO
OO

4)

o O
o0

Correct Answer:

o0
o0
o0

Candidate Answer: [ NOT ANSWERED ]

QID: 224 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afy e ZUUT @ AB @1 W @ ST, & & T
I Hpiadl A & Pl @ Hpla wF e Hr

e ufafass gefre




Options:
1)

2)

3)

4)

> || || |

Correct Answer:

D>

Candidate Answer:

QID : 225 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The seits of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘Q’ can
be represented by 10, 34, etc., and ‘B’ can be represented by 86, 79, elc.
Similarly, you have to identify the set for the word “STAR"”

U e had U GEAT-OAE oRT gt mam § Star 5 feeut # @
et T # Gam T ¥ oot # Br o GEanae IERT & o ot
grI gafe v ¥ S BR Bu o g syt & ) anegel & owaE 3R
ofeh T TEaT 0 § 4 % AR ImegE H5F 91 3 Rt d vh W W
ued 3Oh Ui R ag 3 wawer dwar grn gefar S wear ¥ Saredor
& forw ‘@ @ 10, 34, N AT ST ST FhAT & @A ‘B° @ 86, 79,
e grr gufan o wewar &1 =W ave @ aus uw # B e “STAR”
& foT wo a upgEEn &)

Matrix-I Matrix-il

Il Il
0|l1]|2|3]|4 5|6|7|8]|9
0|P|IR|(T|Q|S S5|B|K|D|A|J
1(Q|S|P|IR|T 6|AlJ|B|K|D
2/RIT|IQ|S|P T|IK[D|A|J|B
JIS|IPIR|T|GQ 8|J|B|K| DA
4| T|Q|S|P|R 9|ID|A|J|B|K




Options:
1) 42, 03, 89, 13

2) 11, 40, 65, 02
3) 04, 32, 96, 32

4) 30, 21, 77, 44
Correct Answer: 30, 21, 77, 44
Candidate Answer: 42, 03, 89, 13

QID : 226 - When there is only one buyer and one seller of product, it is called situation.

e it aXg BT FHad U bl qUT U fashdl g1 §, 99 98 fufa weard 71
Options:

1) Public monopoly

SEGEI

2) Bilateral monopoly

fgueia

3) Franchised monopoly
o=y faehan

4) Monopsony

Excal
Correct Answer: Bilateral monopoly

feuefta ThTfIaR

Candidate Answer: Monopsony
ERcal

QID : 227 - Which among the following sponsors Regional Rural Banks (RRB'S)?

Frofiaa o ¥ o1 &g T ST 3 UrEiRid BRar 82
Options:

1) Reserve Bank of India

YR Rord S

2) Foreign Banks

fag=h dw

3) National Commercial Banks

4) Co—Os;ative Banks
Correct Answer: National Commercial Banks

Candidate Answer: Co-Operative Banks

QID : 228 - Which of the following has the supreme command of the Indian Defence Forces?

i 7 3 fud U URd Rem Ia R Fate HHH T 82
Options:

1) Prime Minister of India

YR & Je-EAT

2) Defence Minister of India

HRA P &1 HA

3) Council of Ministers of India

4) President of India

URA &

Correct Answer: President of India

HRd & AP

Candidate Answer: Defence Minister of India
HRA & &l HaAl

QID : 229 - Anti-defection law is given in which schedule of Indian constitution?

TU-990 BT HRATT Sfay B by g § faar man g2
Options:

1) Second Schedule

2) Tgnth Schedule

3) Third Schedule

GIRR

4) Fourth Schedule
E101

Correct Answer: Tenth Schedule
AT g
Candidate Answer: [ NOT ANSWERED ]



QID : 230 - Who was the founder of Banaras Hindu University?

FIRY fog fayfaerer &t wimo frem &1 o
Options:

1) Sukumar Dutt

YHUR &

2) Madan Mohan Malvia

e Hradr

3) Dr. Rajendra Prasad

3. o J9IG

4) Motilal Nehru

Hdtera

Correct Answer: Madan Mohan Malvia
A Hig Aed

Candidate Answer: Dr. Rajendra Prasad
BT, ok TG

QID : 231 - The second Battle of Tarain was fought between

REAFfeiagg Fdwasimn
Options:

1) Alexander and Porus

ez aur U™

2) Jai Chand and Mohammed Ghori

e 9T gewIE 1t

3) Akbar and Hemu

SHBHER U TH,

4) Mohammed Ghori and Prithviraj Chauhan
HerTe T qut QediRIe 9

Correct Answer: Mohammed Ghori and Prithviraj Chauhan
Tere TR quT QedRIeT 9gm

Candidate Answer: Akbar and Hemu

AHER AU T,

QID : 232 - Which of the following is the most abundant metal on Earth's crust?
frofoiad o ¥ 19 91 a1g gedt 3 o § Ted TR A H U ST 82
Options:

1) Magnesium

2) Iron

32 Copper

GISL

4) Aluminium

Correct Answer: Aluminium

Candidate Answer: Iron

QID : 233 - Soil having high content of aluminum and iron oxide is also known as

SGHITH TUT SR 3iiTSS & AU A arelt Fal H 1t Hgd B
Options:
1) meadow soil
TIRMTE Hal
2) pedalfer soil
Haa

3) chernozen soil

42 po\glzol soil
EIESIGRESE)
Correct Answer: pedalfer soil
Hqal
Candidate Answer: [ NOT ANSWERED ]

QID : 234 - Red rot is a disease caused to which of the following plant?

sty (XS 3e) fommd Fafafed § 9 i did &1 gkt &2
Options:

1) Paddy

RIE}

2) Sugarcane

T

3) Mustard

w4t

4) Wheat



Correct Answer: Sugarcane
T

Candidate Answer: [ NOT ANSWERED ]

QID : 235 - Which among the following is not a connective tissue?

fofafea 7 ¥ B9t Tl s 6 82
Options:

1) Blood

o

2) Bone

Y

3) Skin

oadr

4) Cartilage

TR (AT U d)
Correct Answer: Skin
il

Candidate Answer: Blood
ad

QID : 236 - Which of the following micro-organism causes diseases like polio and chicken pox?

o 7 ¥ o9 ¥ gersid aifer au 3= (R uie) St ik femial & eror g2
Options:
1) Bacteria

2) Protozoa
PIEEiE
3) Algae
Sare

4) Virus
Correct Answer: Virus

Candidate Answer: Virus

QID : 237 - Convex mirror is generally used in

FHI: e YT BT FEnT Al
Options:
1) solar cookers

IR el

2) opthalmoscope

3) reflector for head light
ST T UfdaTs

4) rear view mirror
pe

Correct Answer: rear view mirror
Ugyexif guur

Candidate Answer: rear view mirror
TRl guur

QID : 238 - What is the SI unit of frequency?

3R BT TY. TS, AR &1 82
Options:
1) Newton

e
22 Watt
3) Farad
e

4) Hertz
Correct Answer: Hertz

Candidate Answer: Hertz

QID : 239 - Which among the following is a 'Modifier key'?
FEffd o ¥ $1F O T NS g (FShRR 31y’ 82



Options:
1) Control
P

2) Shift
e

3) Alt
3l
4) All options are correct

Tt fopeT Tt §

Correct Answer: All options are correct

gt ey 981 @

Candidate Answer: All options are correct

ft ey wdt §

QID : 240 - Which of the following is an Inert Gas?

frofofad o @ o9 9 o ks T §2
Options:
1) Hydrogen

2) Nitrogen

3) (5xygen

SHiRfror

4) Argon

Correct Answer: Argon

Candidate Answer: Argon

e SiRfH &1 U 7l
Options:

1) Allotrope

ARG

2) Isotope

qaRIAS

QID : 241 - Ozone is an of oxygen.

3) Isobar
qAYTRS

4) Isotone

Correct Answer: Allotrope
I leroey

Candidate Answer: Isotope

QID : 242 - Red data book contains data of which of the following?

s S1eT g #, Fafoiad ® & BI-91 STer uran ST 82
Options:

1) All plant species

gt gy genfoat

2) All animal species

it o wremfaar

3) All endangered species

it if

4) All extinct species

Tt gety remfaar

Correct Answer: AILendangered species

it faqquemma

Candidate Answer: All endangered species

it faqqeavm et

QID : 243 - Union Cabinet approves amendments in M-SIPS to attract investment in electronics manufacturing. What is the full form of M-SIPS?

Pt URST A saaei-e Ao B Faw & reitfa w1 & e (0 Tt ong 0 uw) # Searg i Aed < 71 T, T, oS, Y. TN, Pl SRifed U @ 87
Options:
1) Modified Sustainable Investment Package Scheme
d :
2) Modified Special Ir]formation Package Scheme
TR fafRrs gae Sgfd e

3) Modified Special Inceptive Package Scheme

4) Modern Socialist Incentive Package Scheme
Y FHTSTATE! UiedTe

Cprrect Answer: Modified Special Incentive Package Scheme



Candidate Answer: Modified Sustainable Investment Package Scheme

TN o Fas 9gfy de
QID : 244 - Who was the invertor of frozen foods?

T U HIeH 3T @i foper 37 2
Options:

1) Alfred Nobel

3AFS Ao

2) C'Iarence Bi\[dseye

3) Frank Whittle
fegea

4) Ives McGaffey
AFTw!

Correct Answer: Clarence Birdseye
SicEE ol

Candidate Answer: [ NOT ANSWERED ]

QID : 245 -
Match the following.

T & e fieo

Term / 25 Sport/ @
1. Birdie a. Tennis
&t fom
2. Volley b. Cricket
ateir ferehe
3. Hit wicket c. Golf
fee fadre e
Options:
1) 1-b, 2-c, 3-a
2) 1-c, 2-a, 3-b
3) 1-a, 2-¢, 3b

4) 1-c, 2-b, 3-a
Correct Answer: 1-c, 2-a, 3-b
Candidate Answer: 1-c, 2-a, 3-b

QID : 246 - The Mosque with "shaking minarets" is situated in which Indian city?

e HHAR aTelt U Bfdig YR & 5y eR § fyd 82
Options:
1) Kanpur

DR
2) Ahmedabad

3fgHcldIg
3) Jaipur

SR
4) Ranchi
Rl

Correct Answer: Ahmedabad
SEEMEI

Candidate Answer: Ahmedabad
SEEMEI

QID : 247 - Who among the following was awarded with Padma Shri 2017 in the field of 'Culinary"?

oo o 9 frd uremeen Yeed 87 & 2017 & 31 ft REHR ¥ g o5 82



Options:
1) Sanjeev Kapoor

2) Vikas Khanna
9o @

3) Ranveer Brar

IR RS

4) Kunal Kapur

PUMT HLR

Correct Answer: Sanjeev Kapoor

el FPR

Candidate Answer: [ NOT ANSWERED ]

QID : 248 - 'The World Outside My Window' is written by which author?

T A H3CHES W13 fae) fry dae gR1 forelt 71 B2
Options:
1) Emily Bronte

Eird

2) Ruskin Bond
sitg

3) L. Jan Austen

S afed

4) Henry Fielding
Correct Answer: Ruskin Bond

I arog
Candidate Answer: [ NOT ANSWERED ]

QID : 249 - Due to incresed weapon launching missions of North Korea, which country has launched a spy satellite to monitor it?

TR BN P Ted 3 TAUUN & SR fHY T 7 IY R ARA W F e gl Iuwre &1 vau fear 22
Options:

1) South Korea

graoft i

2) USA

Tgad Isg SARaT

3) China

EiE|

4) Japan
SICIE]

Correct Answer: Japan
S

Candidate Answer: USA
Tgard o9 ST

QID : 250 - With which of the following country, India has a land dispute near Tawang?

T & U R b1 Yf fare e & 3 o 2w & Ty 82
Options:
1) Pakistan

2) China

G|

3) Afghanistan
SBIAET

4) Bangladesh

CRGIER

Correct Answer: China

Candidate Answer: China

QID : 251 - How many times the keys of a typewriter have to be pressed in order to write numbers from 121 to 1346?

121 ¥ 1346 TP P! TBATE foren & AT U TRWRIZeR F el B fba-! R gamn Sem?
Options:
1) 3675

2) 4018
3) 4021

4) 4025
Correct Answer: 4025
Candidate Answer: [ NOT ANSWERED ]



QID : 252 - Sandy and Mandy do (8/13)th part of a work and the rest of the work was completed by Andy. If Sandy, Mandy and Andy take the same work for Rs
2600, then what is the share (in Rs) of Andy?

gs?amﬁg;”wmm(8/13)mmﬁwm%6mﬁum&é$mwmmé|uﬁ@'@ﬁ,ﬁ%ﬁﬂmﬁs‘}wmaﬁ 2600 %. & A €, d Ut &1 i (3.
) forem g

Options:

1) 1600

2) 1400

3) 800

4) 1000

Correct Answer: 1000
Candidate Answer: [ NOT ANSWERED ]

QID : 253 - A solid cone of height 24 cm and radius of its base 8 cm is melted to form a solid cylinder of radius 6 cm and height 6 cm. In the whole process what
percent of material is wasted?

TF S g gt Fars 24 A1, qur SMyR ot B 8 9., 7, F RAaemex 6 9.41. Bow aur 6 Q.. S &1 U 31 ST S ST 81 59 QR USR0 B febar
uferra uardf oo gan g2

Options:

1) 48.5

2)37.5

3)57.8

4) 64

Correct Answer: 57.8

Candidate Answer: [ NOT ANSWERED ]

QID : 254 - If two successive discounts of 20% and 30% are given, then what is the net discount (in %)?

g 20% TUT 30% FI & His ge & 9t §, A Faa () e (% F) o gt
Options:

1) 40

2) 44

3) 56

4) 60

Correct Answer: 44

Candidate Answer: 56

QID : 255 - In what ratio sugar at Rs 30/kg should be mixed with sugar at Rs 45/kg so that on selling the mixture at Rs 42/kg there is a profit of 20%?

30 %. Ufa f.am. &t I+ Y 45 . Tl .o, ) <t & Iy o5 srgura & fireman ome, fora < fArgor &t 42 3. U i, 71, & 999 IR 20% T 1 812
Options:
1)2:1

2)2:3
3)5:2

4)3:7
Correct Answer: 2 : 1
Candidate Answer: [ NOT ANSWERED ]

QID : 256 - Average of 11 numbers is 7. If every number is doubled, then what will be the new average of the numbers?

11 T3l 31 3id 7 ¥1 A Udies e i g1 WY, ot st ol T siad @ gt
Options:

1) 3.5

2)7

3) 10.5

4) 14

Correct Answer: 14

Candidate Answer: 14

QID : 257 - A trader sold an article at profit of 20%. Had he bought that article at 60% less price and sold it at Rs 90 less, then he would have gained 50%. What is
the value (in Rs) of cost price?

WTWW@ZO%%W‘HWW%I I 98 IY TG B 60% HH G TR TG § a1 90 T. HH W JId1 8, O IH 50% T BT 3| 6T T BT TH (3. H)
foraar g2

Options:

1) 150

2) 200

3) 250

4) 300

Correct Answer: 150

Candidate Answer: [ NOT ANSWERED ]

QID : 258 - Amit donated 20% of his income to a school and deposited 20% of the remainder in his bank. If he is having Rs 12800 now, then what is the income
(in Rs) of Amit?

SR Ut 3T BT 20% Tpel Bl G H & Al & YT AT BT 20% AT S F STHT R el 21 Al TP UTY 37d 12800 3. 9 &, f Ad T 3 (2. H) fbat 82



Options:
1) 18000
2) 20000
3) 24000
4) 32000

Correct Answer: 20000
Candidate Answer: [ NOT ANSWERED ]

QID : 259 - Two trains are moving in the opposite directions at speed of 43 km/h and 51 km/h respectively. The time taken by the slower train to cross a man
sitting in the faster train is 9 seconds. What is the length (in metres) of the slower train?

& YTl B 43 fb . ufa ger aur 51 fb. . ufy der @t iy J fyudia foxn & = 36 €1 vl 7y areh Y, @t At i arelt Yot B 9% oufe Y uR B
9 Jbs I &1 it Ty arelt YT Y earg (Ffex H) fpat 82

Options:

1) 235

2)338.4

3) 470

4) 940

Correct Answer: 235
Candidate Answer: [ NOT ANSWERED ]

QID : 260 - A certain sum of money amounts to Rs 918 in 2 years and Rs 969 in 3.5 years at simple interest. What is the rate of interest (in %)?

T i A QR saTe o1 2% W < anf § 918 T, YT 3.5 I8 A 969 3. B ST §1 TS Bl &R (% H) FT 7?
Options:
1) 4

2)5
3)6

4)8
Correct Answer: 4
Candidate Answer: 6

QID : 261 - If 4X*Y) = 256 and (256)*Y) = 4, then what is the value of x and y?

g 40+Y) = 256 qUT (256)%Y) = 4, T x TUT y BT T T G2
Options:

1) 17/8, 15/8

2) 17/4, 15/4

3) 9/17, 15/17

4) 8/17, 8/15

Correct Answer: 17/8, 15/8

Candidate Answer: [ NOT ANSWERED ]

QID : 262 - If the expression px3 — qx? — 7x — 6 is completely divisible by x2 — x — 6, then what is the value of p and q respectively?

e o px3 - qx2 — 7x — 6, (X2 — x — 6) T quia: fAHTITd 81T B, o HHST: p qUT q HT AF &1 32
Options:

1)0,1

2)1,0

3)2,1

41,2

Correct Answer: 1, 0

Candidate Answer: [ NOT ANSWERED ]

QID : 263 - If the expression px> — 2x2 — gx + 18 is completely divisible by (x2 — 9), then what is the ratio between p and q respectively?

g eI px3 - 2x2 - gx + 18, (x2 — 9) J quid: faRTd B, O HH: p qUT q & S BT SUTT 1 SRR
Options:

1)1:9

2)1:3

3)3:1

4)9:1

Correct Answer: 1:9

Candidate Answer: [ NOT ANSWERED ]

QID : 264 -

5

If X+%=5, then what is the value of x° +i?
X

ofe x+%=5:?—ﬁ x5+l5 Tl AT &1 &7
X



Options:
1) 1875

2) 2525
3) 2530

4) 3120
Correct Answer: 2525
Candidate Answer: [ NOT ANSWERED ]

QID : 265 - In triangle ABC, £ABC = 90°. BP is drawn perpendicular to AC. If £BAP = 50°, then what is the value (in degrees) of 2PBC?

s ABC H, 2ABC = 90° 81 BP, AC TR &% Wil 7T 81 If& £BAP = 50°, @ ~PBC &1 0 (&7t &) a/m g

Options:

1) 30

2) 45

3) 50

4) 60

Correct Answer: 50
Candidate Answer: 45

QID : 266 - In triangle PQR, the sides PQ and PR are produced to A and B respectively. The bisectors of 2AQR and £BRQ intersect at point O. If ZQOR = 50°, then

what is the value (in degrees) of 2QPR?
ST PQR H, YT PQ TUT PR &Y THHTT: A TUT B I §GTAT ST | 2AQR YT 2BRQ &1 fgidh fiig 0 R ufaede &var 81 afd 2QOR = 50°, A QPR &1 1 (f&3h )

1 g

Options:

1) 50

2) 60

3)80

4) 100

Correct Answer: 80
Candidate Answer: 80

QID: 267 -
In the given figure, ABCD is a rhombus and BCE is

an isosceles triangle, with BC = CE, ~CBE = 84° and
ZADC = 787, then what is the value (in degrees) of

ZDEC?

& % pfa &, ABCD U& WHIgHS ¢ 9T BCE
ues gAfgarg e & Srad BC = CE, ZCBE =84°

Jur ~ADC = 78° &, af ~DEC & AT (fZah &) ==
22

A B
i T~
J -
Ill ll RH\“\
[ f \\_x
/ o
f B
/ i ~
I|I _'__P_:-"""-F-P; ||| ,/
[ " -
D C
Options:
1) 20
2)28
3)33
4) 36

Correct Answer: 33
Candidate Answer: [ NOT ANSWERED ]



QID : 268 -
In the given figure, triangle ABC is drawn such that
AB is tangent to a circle at A whose radiusis10 cm
and BC passes through centre of the circle. Point C
lies on the circle. If BC = 36 cm and AB = 24cm then
what is the area (in cm?) of triangle ABC?

& 2 W@ A B ABC # & USR @
AT § 5 AB T 10 B Tr=mm arer g7 fr A
W T [@ ¥ TU BC g F g ¥ g e
¥ fig C @@ w TR ¥ 3fX BC = 36 w3 g
AB = 24 @ @ A Tags ABC @1 & e
@2 A) Fw &2

g 'H\\
v N
/ X
(& L \"
fAT~ \
| \ H'""\-a.h_\_hho |I
| N TR |
VN ey
._.\L N ;; “-H.LEHH
\_\ g MHH
\"mﬂ_____ gt % B
A B
Options:
1) 134.5
2) 148
3) 166.15
4) 180

Correct Answer: 166.15
Candidate Answer: [ NOT ANSWERED ]

QID : 269 -
2 ?
A

cot— +tan—
S

What is the simplified value of

%

—A2 = &FT TTAIET AT FAT €2
COt§+tan§

Options:
1)sinA
2) cos A/2
3) cos? A

4) 2 sin A/2
Correct Answer: sin A
Candidate Answer: [ NOT ANSWERED ]



QID : 270 -
\2

What is the simplified value of o 7
secA+tanA

[;Taﬁrmﬁrmm%?

sec A+tan A
Options:
1)secA +tan A
2)sin Acos A
3) (1 =sin A)/(1 + sin A)

4) (1 -cos A)/(1 + cos A)
Correct Answer: (1 —sin A)/(1 + sin A)
Candidate Answer: [ NOT ANSWERED ]

QID : 271 - What is the simplified value of (cosec* A — cot? A) - (cot* A + cosec? A)?

(cosec* A — cot? A) — (cot* A + cosec? A) FT IReHpd A T 82
Options:

1)0

2)5

3)6

4)9
Correct Answer: 0
Candidate Answer: 0

QID: 272 -
The bar chart given below shows the number of
audience in a multiscreen theatre for 3 shows.

Eﬁﬁﬁnmmﬁ?ﬁmaguémﬁﬁmmﬁs
FUEAT & form g9 Y T=ar @ g T g

Oscreen1 /9871 ®Screen2 /98712 ®Screen 3/ 927 3
¥ 8- . 7.5
ER 71 6 85 "
= 6 -
o 5
EE S 4.5 4
= 3
EJL%' 3 1
g 2 7
< 1
D T T
1st 2nd 3rd
Shows | FTAHH

What is the percentage increase in the number of audience in Screen 1 from second show to third show?

TS 1 R g ST I dRR Sriey & fu axfe! 9t g ¥ faa ufawd 3t 3fS 88 82
Options:

1) 50

2) 100

3) 120

4) 150

Correct Answer: 100

Candidate Answer: [ NOT ANSWERED ]




QID: 273 -
The bar chart given below shows the number of
audience in a multiscreen theatre for 3 shows.

Eﬁ#ﬁnmmﬁ?ﬁmaguémﬁﬁmmﬁs
FEAT & form g9t Y =T @ g T B

Uscreen1 /9871 ZScreen2 /9812 ®Screen 3/ 91 3
w 8 - . 7.5
ES® 71 g 85 .
= 6 -
o 5
E.E 5 7 4.5 4
= 3
EJ;-; 3 1
g 2 7
< 1 A
0 T T
1st 2nd 3rd
Shows | FTEHA

For the second show the number of audience in Screen 3 is how much more than the number of audience in Screen 1 ?

TR HRIHH F O U 1 R 9 =0l &) T 1 3 R IS I Bt T § et sifde 82
Options:

1) 500

2) 350

3) 400

4) 450

Correct Answer: 400
Candidate Answer: [ NOT ANSWERED ]

QID: 274 -
The bar chart given below shows the number of
audience in a multiscreen theatre for 3 shows.

@ Ro ow gvz e # 1o agug oo feemer # 3
FOEAT F o g9 fr I=r & g T g

Oscreen1/96T1 PScreen2 /9812 ®Screen 3/ 921 3
w 8 - 7 5
S’ 7- g 85 .
= 6
= 5
EE 5 1 4.5 4
‘-"c 4 |
= 3
EJE 3
gk 2;
I 1 1
0 T T
1st 2nd 3rd
Shows | FEFA

What is the percentage increase in the total number of audience from second show to third show?

T HRIHH § TR FRGH F oY $o <! 31 v | o fad 3 9f g3 7



Options:
1) 20.69

2) 25.13
3)22.24

4) 18.15
Correct Answer: 20.69
Candidate Answer: [ NOT ANSWERED ]

QID : 275 -
The bar chart given below shows the number of
audience in a multiscreen theatre for 3 shows.

@ R om gvz e F 1o agud oo R # 3
FEAT & forr goiet i T @ gt T

Oscreen1/98T1 ®Screen2 /9812 ®Screen 3/ 921 3
) g = 7 7.5
S’ 7- g 85 .
o 6 -
o 5
E.E 5 1 4.5 4
= o 4 4
3 e 3
EJR%; 3 1
E 2 7
<l 1 1
0 T T
1st 2nd 3rd
Shows | FEFH

If the tickets for Screen 1, Screen 2 and Screen 3 are Rs 350, Rs 300 and Rs 250 respectively, then which screen has the maximum total revenue for three shows?

e U 1, 2 U1 3 % oW el &7 Yea A 350 3., 300 T. TUT 250 F. T, d A= HEiHH! & MY {59 U 3T $of HHTS Gaidd 32
Options:

1) Screen 1

Ugi 1

2) Screen 1 and Screen 3

Uef 1 quT uaf 3

3) Screen 2

Tgi 2

4) Screen 3

uei 3

Correct Answer: Screen 3

Ugi 3

Candidate Answer: [ NOT ANSWERED ]

QID : 276 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

My brother finds it difficult (1)/ to pass away the time (2)/ at our grandparent's house. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 277 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

No sooner had he finished (1)/ his morning walk (2)/ when it began to rain. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3








